Openers #1-1 Name: %‘%/?f

“ach day when you come into class, there will be a problem projected for you to complete. Find the appropriate box to
complete the problem in and work on it when you arrive.
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e Positive integers, or M}u/ﬂ// numbers. 1,2, 3,4, ..

Nonnegative integers, or W}ML” numbers. 0,1, 2, 3, ..
.-3,-2,-2,0,1,2,3,... is the set of }nmﬂf

A number that repeats or terminates is a I%’J'fﬂ/lﬂ// number.
A number that is infinite and non-repeating is an )'f/ﬁ/#ﬂ/’?ﬁ// number.
The system of f&ﬂ// numbers consists of all rational and irrational
numbers.

(‘,ﬂrﬂ;ﬂ/ﬁ"‘ numbers consist of a real number and an imaginary number.




Date: 1-2
/ Simplify. (x y; )(-lez ;x V) 2 : sz’_
-ARN 27 = =
Y J
b
Simplify. (3y°)*(4y")> g) y )? !,f Jw> = ,&i_
L 04y° i
Rewrite with rational exponents. Vx3 )("g’a
Rewrite as a radical. 8y§ | :
83y
Date: 1-2-2 5
- _ - ]
/ Simplify. /(8a®h=3) 2a%h - Zﬁ: even oot T oded
b =D need |
simait (G5 | 2 ) s
4
Simplify. 3/ (2u—3v%)® ZL
Ju?]
Date: 1-3
/ Factor. 8c®—27d’ (24 ;—3p{ 9)(17/6 "61" &ey"a* 4462

Factor. 4x*+9 Fylm-&‘

Factor{:{5x3+ 10)(%-{'20#40.} fx}( Kl ) -*20( A +2)
. / / (5)62_2@()“2)
5(x4)(x+2)
5/ x-2l 42X x+2)

~

)

AT

T s s i e ST AT

.



Date:

1-3-2

Factor. 6x°+ 7x—20 (3%"*)(2)(4'5)
Factor. 12x*—x—6 6171)(4-3/2{5)(4-}2)

Factor. 7x°+ 10x - 8 C']X-—L})()(‘}Z—)

Date: 1-4 ool
s Drlyrs) e
Simplify.
o1z (g5 y? +:y*25) (y“w ~/+25
simolif 2x2+9x—5 CZ)( "'l)(}/“'j) = Z)(.
(P 3x2 +17x+10 E?‘"””y(}’*f) \ 3/0}2 e
Simplify. = — 22+ 2> > K(zxd), w5 5K ’2’?””% 12
e x2 x3 3 x.? x} x\_
s o =2 P 2R N
13 (303) /R4 0IE 425 S
Rationalize. o S{J/-*F) -—)—(—:3—5—- = :
Date: 1-4-2 -

ya )
5a%+12a+4 i 25a% +20a+4 W)@tﬂ) ﬁéék‘ﬁ = ——

st e e

—16 = a?-2a W@J"}‘J) é&ﬂ”ﬂ){.’ﬂ-}j)[ (ﬂ—z*‘})(ﬁﬁ‘z)
5w _j()('*?’) 2 "(HQ SXtE *22(2*2/1 2 __(,XHI-**?{_
L e E0RY L ealhe | ot
A+1 ' %+3 x(x+§)+7()l+l>
(=)(x+3) e
= 2A5F;mES

‘\5
)

e z + 7
G






